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EZZ—X ¢ ﬂ+x:l ¢ x-10=-4 ¢ X+5=2
7 3 12
Mu\u‘ﬁdw\d;
11-8x =17 ¢ 6x+5=23 ¢ -7x=-9 ¢ 3X=-8
3+Zx =5 ¢ —Ex:—Z ¢ =7X -2 ¢ 2x =5
3 6 4 9 3
gx =2X +1 ¢ §x +§:0
9 6 8 4
6-2x =9+x ¢ 4x +8=-3x -6 ¢ X +1=7-X
—ﬂ+0,6x :2,25+§x ¢ 2X —§:EX ! ¢ g+x:—i—6x
9 3 7 2 6 3 1
Al cyaladl Ja
3(5x +2)=8-(4x +9) ¢ 5(3-x)=7x
3x -2(x —4)=5-(8x -4) ¢ 2(5-7x)~(-9x +3)=-7
6x (1-2x ) +(7-5x ) +4(3x* -2)=0 : 8x (2x —3)-4(4x?-4)=0

A Yol Ja

g— 6X —§ :E E+ix ¢ E—EX :2—& 2X —Z ¢ 2 1—§X :fx
14 7) 3\7 26 3 12 3 2 6 9
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1-2x _5-8 _x+4 e 3x—1+5_x -0 e x+3_2:1—2x
7 21 3 4 5 3
4 6x-1 5 1-2x _
=— ¢ —X - =4
2x +1 3Xx°+1 6 3
' AN Y 0
(1-2x)(5+x) =0 ¢ (4-x)(3x +1)=0 ¢ (x-2)(x+1)=0
(x +2)"-1=0 s X2 +6x +9=0 s (x -4)° =0

A Cyad Ja
(1-2x)"+1-2x =0 ¢ (3x+2)"-5(3x +2)=0 ¢ x(x —4)+7(x -4)=0

x®-x=0 ¢ 49x*-28x +4-3(7x -2)=0 %—xzzo ¢ x*-6x=0
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(4-x)"=(2x+3" + 20-24x ~(6x -5)"=0 ¢ 5 (x +2)~(1-3)(x +2)=0
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